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Instructions :

(i)  All questions are compulsory.

(1)  Question Nos,

1to 4 are objective type questions. Each question carries 1x8=8 marks,

(it1) Internal options are given in question nos. 5 to 22.

(iv) Marks

(vii)

(viit) Draw neat and clean
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of each question are indicated against it.
(v) Answer question nos. § to 14

(vi) Answer question nos. 15 to

in about 30 words each.
18 in about 75 words each.

Answer question nos. 19 to 22 in about 120 words each.

labelled diagram wherever required.
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Choose and write the correct alternative ;

hen dilute hydrochloric acid is added 1o i i
. ¢ happens W te b : 0 iron filling 2
® :)ha Hydrogen gas and iron chlom-:le ore produced g
(by Chlorine gas and iron hydroxide are produceq

i lace
No reaction takes p
EZ; Irzn salt and water are produced
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(ii) The most reactive metal is -~

(a) Na (b)  Au
(c) Ag (d) Cu
(iiff) Asexual reproduction through small buds takes place in -
(8) Amocba (b) Yeast
(¢) Plasmodium (d) Leishmania

iv) Which of the following is not a part of the female reproductive system of
human beings ?

(@) Ovary (b) Uterus
(c) Vas deferens (d) Fallopian tube
(v) SI unit of power of lens is -
(@) Meter (b) Centimeter
(¢) Diopter (d) Millimeter
(vi) The human eye forms the image of an object at its —
(a) Cornea (b) Iris
(¢) Pupil (d) Retina
(vii) The change in focal length of an eye lens is caused by the action’
of the -
(a) Pupil (b) Retina
(c) Cilliary muscles (d) Iris
(viii) Fossil fuel is —
(a) Coal and petroleum (b) Wood
(c) Paper (d) Plastic
2 faa @ af@ o 1x8=8
(i) =gd=Eg I w1 fagra R
(i) "N & gz@ A Faw s B ¥
(i) ® 9 s wd T ¥
(iv) aEdE sgET & aoiafy ® war ¥
v) frard dgen @ Prif B ¥
(Vi) T YmE Td AR gEe F HOdT w6d ¥ |
(vii) foga wrr & SI W ¥

(Vi) =~ & wof &1 waw um & R A war ¥ |

[200]7 5110 3 T




Fill in the blanks :
(i) Newlands gave the law of

(i) Fishes have only _ chambers in their heart.

(iii) Green plants make their own

(iv) Aerobic respiration occurs in the presence of -

(v) _ actions are controlled by the medulla.

(vi) The fusion of male gamete and female gamete is called

(vii) The Sl unit of electric current is

(vili)In ___ the flow of energy is unidirectional.
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Match the column :
"o
(i) Formula of common salt
(ii) Non-metal lodine
(iii) Alloy
(iv) Blinking of eyelids
(v) Reproduction in Hydra
(vi) Genetic material
(vii) The unit of magnetic
field strength is
(viii) Magnetic material
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Lustrous
Budding

DNA

Gold

Bronze
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Write the answers in one set{tﬁlce each :

(i) Write the pH value of ggidic solution.

(i) What is the homogenou‘sl mixture of two or more metals 7
(iii) What is the gap betwee&i two nerve cells called 7

(iv) How many days are the period of menstruation 7
(v) Write the name of father of genetics.

(vi) Write the lens formula.

(vii) What does an electric dif¢uit mean ?

e
(viii) How many poles does ?},{uagnel have ?
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Why do we apply paint on iggn articles ?
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Why is respiration consideredi@n exothermic teaction
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Write two ways of preventin}kl;\}{)l' corrosion.
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Write two differences between metal and non-metal.
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Define the atomic size.

sy / OR .
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Write two limitations of Newland's Law of Octaves.
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What would be the consequences of deficiency of haemoglobin 1 O
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What is autotrophic nutrition ? .
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Why is reproduction essential ?

body ?
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Define the unisexual flower.
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Why did Mendel choosen the pea plant for their experiment ? Write any two reasons.
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What is heredity ?
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Write the laws of reflection of light.
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Define the magnification,
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On what factors does the resistance of a conductor depend ? Write any two factors.
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How much work is done in moving a char
a potential difference 12 V ?
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any two s
Draw any Symbols of {he components used in electric circuit.
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Why is the tungsten used almost exclusively for filament of electric lamps ?
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Give any two ways in which non- biodegradable substances would affect the
environment.
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What is ecosystem ?
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Define the Combination reaction and Decomposition reaction.
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Why should a magnesium ribbon be cleaned before burning in air ?
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Draw a labelled diagram of the human eye.
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Draw a labelled diagram of dispersion of white light by the glass prism.
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Write any three properties of magnetic field lines.
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What is Right-hand thumb rule ? Write.
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L. are the advantages of using a solar cooker ? (any four)
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¢ the qualities of an ideal source of energy ?
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Write any four differences between acid anﬁ ]hasc.
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Write any four uses of Plaster of Paris.C
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Write the differences between soap and detergents. (any four)
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Draw the electron dot structure of methane (CH4) and ethene (CaHy).
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Write the differences between xylem and phloem. (any four)

Hya / OR

T TG @t ¥ e faflag |

Write the differences between blood and lymph.

22 (a) oGdd YN % HIE < IuEr faRem
Write any two uses of concave mirrors.

(b) TE IAW T B WHE TN T HC S T Brewr 32 em ¥
Find the focal length of a convex mirror whose radius of curvature is
32 cm.
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What is converging lens ?

(b) g a9 @ A B 20 em ¥ | TN wiwE Th e el 7
The radius of curvature of a spherical mirror is 20 cm. Wha will be its focul
length ?
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